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Section I1
[TO BE ATTACHED TO THE MAIN ANSWER-BOOK]
UG CBCSS INTERNAL EXAMINATION, MAY 2024

DO NOT WRITE YOUR REGISTER NUMBER OR NAME ANYWHERE IN SECTION II OF THE
QUESTION PAPER

Answer all questions.
All questions carry equal weight.
Put a tick mark [V] in the column against the correct answer.

1. What is the co-operate leader's attitude towards the role of an ethical order in the cooperate

world ?

(A) It must obey the moral order.

(B) It must disobey the moral order.

(C) It mustignore the moral order.

(D) Itisbeyond the moral order.

2. Why does Fritj of Capra equate our economic and institutional structure to dinosasurs ?

(A) Because they are likely to find deadly enemies.

(B) Because they are too big to survive.

(C) Because they fail to adapt to environmental changes.

(D) Because they are weale in spite of their size.

3. After our incredible scientific progress what is the gratest threat to humanity ?

(A) Natural calamities.

(B) Disease.

(C) The human being him/herself.

(D) Nuclear weapons.
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4. The main reason for serious economic problems of the majority is :

(A) Famine.

(B) Negligence.

(C) Drought.

(D) Ignorance.

5. What does king mean by a statement "1963 is not an end" ?

(A) African Americans will not withdraw without getting redress.

(B) The procession will be held every year.

(C) Newer strategies will be planned for future years.

(D) African Americans will continue to raise their demands.

6. Which are the two states king demarcates as the once showing maximum racial segregation ?

(A) Alabama and south Carolina.

(B) Geogia and Mississippi.

(C) Mississipi and Alabama.

(D) Georgia and Tennessee.

7. Asregards inborn resistance to disease.

(A) Both men and women are equally placed.

(B) Men are more resistant.

(C) Women are more resistant.

8. Which of the following rich Indian states show the lowest ration of women to men ?

(A) Maharashtra and Punjab

(B) Gujarat and Maharashtra.

(C) Haryana and Punjab.

(D) Punjab and Gujarat.
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10.

11.

12.

13.

Why is Doris angry with her mother ?

(A) Because her mother is smoking.
(B) Because her tea is not ready.
(C) Because her silk dress is not ironed .

(D) Because her mother does not stir

Cyril calls Mrs. Fitzgerald an 'old bag'. What does he mean ?

(A) That she is an unpleasant woman.
(B) That she is an ugly old woman.
(C) That sheis a careless woman.

(D) That she is a miserly old woman.
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Why does Mrs. Fitzgerald want to have a private talk with Mrs. Pearson at the end of the play ?

(A) In order to plan for the future.
(B) Because they have made a mistake.
(C) In order to change roles.

(D) Because they have a secret to share.

According to Valmiki the view that the caste system is an ideal social arrangement is :

(A) Fully correct. (B) Partially correct.

(C) Totally wrong. (D) Partially wrong.

What was the main intention of the caste pupils when they persecuted the dalit boy ?

(A) They wanted to make him obey them.
(B) They wishes to correct him.
(C) They wanted to stop him from coming to school.

(D) They wished to have some fun at his expense.
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14.

15.

16.

17.

18.

The Head master asked Valmiki to sweep the school :

(A) It was his turn to sweep.
(B) It was his punishment for wrong doing.
(C) He had to be thought lesson.

(D) He didn't want him to be educated.
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Which of the following words from the poem present to facade of respectability in the lady ?

(A) Lipstick coated.
(B) Goldrolled agreette holder.
(C) Good breeding.

(D) All of these.
What angered Ashok the most ?

(A) The indifference of people.
(B) The moral superiority with which people juddged him.
(C) The anger of people.

(D) The fear with which people looked upon him.

What was the response of Ashok when the pune doctor told him that he was suffering from

AIDS ?
(A) He fainted.

(B) He broke down.
(C) He was suspicious.

(D) He was very calm.

Who is the author of the poem Telephone converstion ?

(A) Wole Soyinka. (B) J.B.Priestley.

(C) Judy Brady. (D) Thaslima Nasrin.
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19. At the back of progress is a prose written by who ?

(A) Ompakash Valmiki. (B) Taslima Naslin.

(C) Judy Brady. (D) Amarthya Sen.

20. Mrs Fitzgerald is the character in the drama ?

(A) Moters day. (B) Girl.
(C) Joothen. (D) Wole Soyinka.
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